19. If Mark can mow the lawn in 40 minutes and Audrey can mow the lawn in 50 minutes, which equa-
tion can be used to determine how long it would take the two of them to mow the lawn together?

a.
b.m+%=1

o o
|
+
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OS0x+40x=1

e. 90x :%



S51. If x:y = 5:2 and y:z = 3:2, what is the ratio of x:z ?

A. 3:1
B. 3:5
C. 5:3
D. 84
E. 154



4. The ratio of boys to girls in a kindergarten class is 4 to 5. If there are 18 students in the class, how
many are boys?
f. 9
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11. A cookie recipe calls for = cup sugar to make /
3 0 Andl frepr Zien”

24 two-inch cookies. According to this recipe, how

‘many cups of sugar should be used to make ; :
60 two-inch cookies? 2z % — ﬂéﬂ_‘: §ﬂ
= ... >

A 3 - _
D B. 1 247/ o éﬁ
—_—

¢ 14 | |
vz 4o ’?Zj""éa V= %O%g:f:_/f:
B3t 29 T——>, T 2428 3 T 3
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18. A road map is drawn to scale so that 1.5 inches i | DO YOUR FIGURING HERE.
represents 90 miles. How many miles does 1.6 inches 47/‘“0 ﬂW /p/ > py /"7/'—& Y

e
—>g 96 {' _ }' 9 ’/Z: 9’094/'&‘—_ Qé

99

k16 90 X /5




34. A truck sprang a leak at the bottom of its radiator, - - B W
which held 480 ounces of fluid when it started to leak, m /? O é /
and started losing radiator fluid at a constant rate of ,_(77/)
4 ounces per minute. Suppose that the radiator con-
tinued to leak at this constant rate and that the truck, ( 077/] @@
traveling at 35 miles per hour, could continue traveling
@/ at this rate until its radiator was completely empty. In

how many miles would the radiator be empty?

Paa 137
5 EE 7070 = 2houns
<% 1300 7 o /A//'A/ | . Aa
35 mph XL houRs = 7@«4/-_,
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37. If Mark works steadily he can complete a task in DO YOUR FIGURING HERE.

x hours. What portion of the task remains if he works

steadily for y hours, where y is any value less than x ? Efx P Vi ﬁ L. S»S/ /‘ /{7

§, @0
X
<, pe=a
X
}1// x-Y)
C &
D (x")’)
Ty
(x-y)
— E. —/F

% 6%47@% %é ra./‘C/ 3{"
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28. The ratio of a side of square A to the length of /)/ /] j//;747 /%L/p M

rectangle B is 2:3. The ratio of a side of square A to the

width of rectangle B is 2:1. What is the ratio of the

area of square A to the areavof rectangle B ? ﬁ L:— 3 %S /0/«'7 (&7/

F. 2:1

G. 31 i ~

H. 3:2 ) ; S wad Z e
—>K. 43 B’ 2 |Wz! pott Fa7:058, /ﬂap

e A Y D e T lew Lo Y,
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45. A 45-foot wire is cut into 2 pieces whose lengths are in M// M e Z g 5 / [(/f/ﬂ/

the ratio 2:3. What is the length of the shorter piece, in ) t/ 4‘/ :
feet? té %’W
% 2 \.40&

b 1 Lo R R
—>e. " Set AP Propor7, ;) 2+3 s
E.. 303 /ﬁ Sﬁ/V%(/lpy'yYM

v e X
T GO ON TO THE NEXT PAGE.
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11. A recipe for 1 loaf of bread calls for 3% cups of flour. /@ f o 4H / ﬂ, ) /ﬂﬂ /’ﬁ é v,

What is the maximum number of such loaves that can
be made with a bag of flour that contains 12% cups of

flour? :
Asa .1 /ﬁQf 7° ,/K- /Oﬂ ves
B. 4 =

b, 15 3/ | 2 /

B 16 You cap esTimate by /”/t

= 123 374
,./2.,375'-375" 2.

Y AR,
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,{74 tio And //ﬂéé‘é///)f?
| Gute G/ ¥ 5= 255,
54. Only tenth-, eleventh-, and twelfth-grade students

attend Washington High School. The ratio of tenth
graders to the school’s total student population is / 5 9 ;-_70 ' E / /
86:255, and the ratio. of eleventh graders to the are o A/ Grede
school’s total student population is 18:51. If 1 student

is chosen at random from the entire school, which
6\ lgrade is that student most likely to be in? : : g é '7P q& % X 2\53' / 2
F. Tenth >~
G. Eleventh : 7( = 7? 4
H. Twelfth :
J. All grades are equally likely. g 2 ? (/4 72
K. Cannot be determined from the given information 2 f(
Ths GreaTeFT Tt 255

@//Eéewﬂq/ﬂ%m&f B % /2/%.



12 On the line segment below the ratio of Iengths XY to -
. YZi is 1 3. What is the rauo of XY to XZ ?7 S

: F. 1 4

G, 12 ,-

HL 3:1 *

- oJes 431 ‘ ‘ .
Cannot be deterrruned frorn the glven mformatmn S
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12. Carl is making a scale drawing of his rectangular
bedroom floor. The floor is 12 feet wide by 14 feet
long. He is using a scale of % inch = | foot for the
scale drawing of the floor. What will be the dimensions,

in inches, ot Carl's bedroom floor in the scale drawing?

— E 3by 33
2
H. 6by 7 Y -
J. 36 by 42 = —_—
K. 48 by 56 6:' i )2"&”
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30.

Near a large city, planes take off from two airfields. : M é
One of the fields is capable of sending up a plane every F’l\/ D 4 ﬂM /77 W .

3 minutes. The other field is capable of sending up s ’ / A

2 planes every 7 minutes. At these rates, which of the /M % %/ / ﬁ /% :
following is the most reasonable estimate of the total -

number of planes the two airfields could send up in ,7/(4 | é/« & % M : 7 ﬂ %/14/ w ; Z:/? - “

90 minutes?

tp 2oz 0o 27 7 logé7Ae

J. 44 To ( (
PS5 et Ll 878 by 04 ZE=E




43. The circle graph below shows the distribution of
registered voters, by age, for a community. Registered
voters are randomly selected from this distribution to
be called for jury duty. What are the odds (in the age
range:not in the age range) that the first person called
for jury duty is in the age range of 25-35 years?

Distribution of Registered Voters by Age

11% 8%
[] 18-24
M 25-35
25% 36-44
42% [145-55
K 56 and up
A. 1.3
B. 7:8
C. 743
D. 21:29
E. 42:25



16. In square ABCE shown below, D is the midpoint of
CE. Which of the following is the ratio of the area of
AADE to the area of AADB ?

E_ D
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are added, the container is % full. What is the volume

46. A container is < full of water. After 10 cups of water

of the container, in cups?

F. 133
G. 137
H. 15
J. 16
K. 40
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S1. If x:y = 5:2 and y:z = 3:2, what is the ratio of x:z ?

A. 3:1
B. 3:5
C. 5:3
D. 84
E. 154



54. A dog eats 7 cans of food in 3 days. At this rate, how
many cans of food does the dog eat in 3 + d days?

F. l+d

G. -

9 W Wl w
+

N
+

~]
+
LR wia BN vl



1
8

are added, the container is % full. What is the volume

46. A container is = full of water. After 10 cups of water

of the container, in cups?
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34. A truck sprang a leak at the bottom of its radiator,
which held 480 ounces of fluid when it started to leak,
and started losing radiator fluid at a constant rate of
4 ounces per minute. Suppose that the radiator con-
tinued to leak at this constant rate and that the truck,
traveling at 35 miles per hour, could continue traveling
at this rate until its radiator was completely empty. In
how many miles would the radiator be empty?

G b3 Y8 oz _

H 350 L
). 700 ;
K. 1200 ‘/ oZ //I//A/

A

KA7e PRoby
(o1 Bo

120 ik = 2hoars

B35 mph X< houns = 79»«1/...,
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28. The ratio of a side of square A to the length of /)/”j//‘%/gy /%L/ﬁ M

rectangle B is 2:3. The ratio of a side of square A to the

width of rectangle B is 2:1. What is the ratio of the

area of square A to the are‘:a.of rectangle B ? ﬁ L"’ 3 /S /0/07 dz,ﬂ,

E. 21
G. 3:1 s ~
| . Z. ol
?. Z% B” 3- a .S wad P A
—>K. 4:3 = - potth Fa 7,05, g"‘{

AR ea A' 4! D hrea > lan Lo ,
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46. During their morning jog in the park, Jean stops at a DO YOUR FIGURING HERE.
drinking fount;inf. JSula Scolntinues to jog and gets r / ]
10 meters ahead of Jean. Sula is jogging at a constant / é ;7
rate of 2 meters per second, and Jean sta;gts jogging at a Mk /// ; %/(/
constant rate of 2.4 meters per second to catch up to
Sula. Which of the following equations, when solved Wg
for 7, gives the number of seconds Jean will take to

catch up to Sula?

—=> F. 21+ 10=2.4¢ D"‘”{Zﬁ% 670(4/% kf/é‘/é/;;/;r %;7/‘

G. 2r-10=2.4t 4/7@/ %7 mgg//M {Lf/{a«/;‘/ g‘éﬁk
WBRR=Y Wi be egual S bo7h o 27

. = ST e Twvo Horimrelag for Ao Spu,.
o gmiities Cloa? onlst EFUal #o PAF sea®rZero—
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17. Running at a steady pace of 90 seconds per quarter DO YOUR FIGURING HERE.

mile, how many minutes would it take to run 2 miles? /p/ i.7; }/Z-/a wWWo—x Y UST 4 L & o
X/ 4A. 120 . z

/ L . |
¢ 79 jo 4 o= /Z Min. Iz Min/ X Ca//r&;om/:ﬁﬂf LAt S
D. 45 >econdsS
3.0

iy~ \_ X
E. 3 | G Ml  2mMife =2 2(“5’7,) =7 F)=X
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30. Near a large city, planes take off from two airfields. ; M é
One of the fields is capable of sending up a plane every F/l‘/ D 4 VM /77 Afl/ .
3 minutes. The other field is capable of sending up } g g K% A,
IL 2 planes every 7 minutes. At these rates, which of the /M MZ % / / ﬁ /& s
_ _ | /.
number of planes the two airfields could send up in 72; %/, a % Ml} @ %/ YA w ﬁ Z:/; K;{‘

following is the most reasonable estimate of the total
90 minutes?

e o2 o g0 =T7% 447 09677

—

Ho36 7 Y0 257 <

K. 5 32, =T W4W%74M/5/mk Jo+25=55"




45. A 45-foot wire is cut into 2 pieces whose lengths are in lA// % e Z “ 5 //ﬂ//a/
the ratio 2:3. What is the length of the shorter piece, in ) t/ L/ '
feet? té W

% 2 x,w&

0 A9
B. 15 Ao A . A~

/—‘

—HC. 1 Set AP Progor7, o ) 2+2 e
D. 224 . / ” ‘
E. 30 /ﬁj‘&(/ (5;’7 7§M
v 3 X
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9. Franco is riding in a seat on a Ferris wheel. The wheel ﬂ / /‘/85 dd// /( 74 f é 5

rotates at a constant rate of 1 revolution every minute.

' What is the measure of the angle Franco’s seat rotates .Z/ o / 7 /éi < é’ﬁ/Vé /’;7//{/,/!/ A

around the center of the Ferris wheel, starting at the

. bottom, in % mlnnte? /% M& ﬂ A/% /‘e ‘/ﬂ/ 39)? Z/ﬁ;w /f; g'_
: Goes half wry aroee? Lo

50° f/ /0/[{// gipfe has 3M %éz/ /4//4/47

B 30 wouldl be /ﬂ/
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